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1. Solve the quadratic e%uatron b)@ciggng—’
=S¢ ~/¥~ ©
2 -5t=14
(C r2)E—T7)9
The solution set is { ,},
(Simplify your answer. Use a comma to separate answers as needed.)

E+2 =0 O& ;_) = 07 o 7
Answer; -2,7 é_,LZ —2.=0 -1 O/ )
Cé=-L ron€=T) s

ID: Quick Check PF.4.9

g ,-.‘_,4—-\___’-\____ e e — s — N = & -
2. Solve the quadratic equatlon@g 2« Y _-{- 7 / ~+ 7~ 7 +’7 = O
2y? +8y+8=y?-7 yl -f-b’/"f'/S'ﬂ““‘

The solution set is { b, (j ~f 3) @ -f_)’j =t

(Simplify your answer. Use a comma to separate answers as needed ) e N
gt5=0 O Yty = B
Answer: —=3,-5 7’(’3’3 »_0 3 o/ ‘j"fS'—’“S"" O

ID: Quick Check PF.4.10 9\3\ Oﬁw

oring to solve the polynomial equation. Y, 4 e
Use 5‘/4 ? IAS L s L o =7t /__(fg s |
%% = 2x% +72=36x " ' l O -36 O [l t
The solution set is 4 } (Use a '_WTI o
X i =3y 7270 why 1L Mu{ )
Answer: -6,2,6 - 3’?:3“‘-—/-_____.,—
VtS( 574.[4{4 e tl’\ Vi e ] 6 C)‘--'f/’ 2- 6 "‘6
P
ID: Quick Check PF.4.12 : + 6 — i g 3
—— W—:‘;fﬂxix_\x R i R e

{5 274
7 +x% ~63x-9=0

4. Slvetlf‘zju.?tl( - “<73) 7 [ —63 -9

The solution set is
(Simplify your answer. Type an mteger or a simplified fraction. Use a comma to separate answers as needed.)

Answer: 1 -3 \l 7 i

o ~2 |

U 5S4 Svy‘q-LL-.-.,(-:c é PP
ID: PF.4.39 e 7 '
q D[
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5. Find the domain of the function.

f(x) = 4/4x~ 36

The domain is L (Type your answer in interval notation.)

Answer: [9,00)

ID: 1.1.59
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6. For the given functions fand g. complete parts (a)-(h). For parts (a)-(d), also find the domain.

fx) = 5%+ 6: g(x) = 7x - 3 (’ ‘f/)/"/) < .

(@) Find (f+g)(x).

SXr6) 1 (‘7/(—@) = ( o
(f+g)x) = (Simplify ( ) o
a)(x implify you Safsui:;c 7‘_//‘“ 3, ( )/ p)

What is the domain of f+ g7 Select the correct chmcabelow and, If neces: ‘v" in the answer box to complete your

choice. C /_{_*(j_g__i'_,_._- S

A. The domain is {x| .
(Use integers or fractions for any numbers in :?e expression. Use a comma to separate

answers as needed.) /) /)d
(_) B. The domain is {x| x is any real number}. /
) — 90<) = .l .
(b) Find (f- g)(x). — - — T A A
(xe6) —(4-3) < Qe )
(f-g)x)= (Simplify your answer) ¢/ .s-(; ~— IX—+ 5 2 ( S )/7 Io'¢) )
What is the domain of f— g? Select the correct choice below and, if necessary, fi fill in the answer box to completé your

choice. <” Z )( _/. :,75 B &/

A. The domain is {x|
(Use integers or fractions for any numbers in th tr;xpresslon Use a comma to separate

answers as needrd ) / / )()
() B. The domain is {x| x is any real number}. { e
He 80" Drmaee

VYha of

(c) Find (f+g)(x). ()\/7‘ 6 ) (7% f__g) )
feg)(x)= Simplify your answer.
(+9)) (Simplify y R VIR =1 FEN 6/)/ (Y)

What is the domain of f+ g? Select the correct cho:ce below and, if necessary, fill in the answer box.to complete your choice.
K RS E TN — I § =

A. The domain is {x| =S
(Use integers or fractions for any numbers in the expressron Use a comma to separate o ¢ ) / )(r‘ 7
answers as needed.) =27 -

B. The domain is {x| x is any real number}. /3(/ L 4 I~ ff/é o7
/

(d) Find [é](x). I/ (5'((/; . { r/’r, = 2
Ty / P // =
5)(/@ (/ 25

T —3 (/\//; >

f
What is the domain of —? Select the correct choice bel nd ;_naeeﬁsary, fill in the answer box to complete your choice.

A. The domain is {x| (/f)})(/:/zz(‘f 3 C(c)/”’ G

(Use integers or fractions for any number |n ithe expr?ss:on Use a comma to separate

~

f
(EJ (x)= (Simplify your answer.)

answers as needed.)

B. The domain is {x| x is any real numbe

(e) Find (f + g)(4).

30f33 T 14912020, 11:08.AM
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= — — 3 A = — ot
(F+a)d)= | (Type an integer or a simplified fraztpn ) ( //)("7 X749

9)(3) = ~2(%)7 3
bf=p3) = 677 _
(@) Find (+9)@). P 9/(3) T 3 \ <
(feg)2)= (Type an integer or a simplified fra -)—-//
) /“7//4 3r>( lix—IF
(4‘:’*"//(2) e 35(8) "+ L)~ FF

f
(EJ M= (Type an integer ¢ or a simplified fraction.)

//(5‘) ety 4+ 27C8 ~ 1 &

(f) Find (f- g)(3).

f-g)(3)= - (Type an integer or a simplified fracti

) f
(h) Find (g ] ).

B. The domain is {x| x is any

35x +27x-18

B. The domain is {x| x is any

- — W —
o=l
A. The domain is {x| x#— } ( /\ 5

Answers 12x + 3 (( ) 55—’(((/ "( l 2/'{/-__ /2/
B. The domain is {x| x is an re mba =

-2x+9 ’ ) (Z) /% ( 5 s/ //

?‘u‘mber.(.z) /?%.—. /Z -
L) ()=(76

X + /

: —6 s /\/;/ o

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

51 n- 2 i3

3 W

176 ) !

ID: 1.1.67

4 of 33 ~ - e y 1/9/2020, 11:08 AM



finalm1314COC034sulllljjRZZ34Z-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

7. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

fx)=x - 3; gx) = 6x° (/"’“7}/"7:

a) Find (f + g)(x). AT / (“/) . \ = "\[Uk’?" A
()Ffd(f g_)() - {»3)»—/'/6')(1) - 9(}0&)
(f+g)x) = (Simplify y urans e) 7"6)( (

low and. if necess fill in the answer.box- tammplete your
saq,\

What is the domain of f + g? Select the correct choice
choice. é )( 1'74 /(‘_ N L/{f’ ;
_————""-'/-
A. The domain is {x }

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( : - j) M

» B. The domain is {x| x is any real number}. / /;(
<) J

J v
(f=g)(x) = (Simplify your an g) b) (G){ N } J CH"
L y ¥ o—T = 6)(( ;_( —/)5 /W/)’

What is the domain of f—g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. - L e
% —6x #FX— N5

(b) Find (f= g)(x).

A. The domain is {x|
(Use integers or fractions for any numbers in t e expression. Use a comma to separate

answers as needed.) ( _{_ j) / ’O

B. The domain is {x| x is any real number}. )
(c¢) Find (f= g)(x). //,(/ 2 ) ()"’ =

l - O \
(fFeg)x)= (Simplify your answer,) - ({ ‘3" )'{_G}Crgi—i—_ — ¢/><7/ @72.** S

What is the domain of f - g? Select the correct cr@e_b_g’_mand if naseasary:ﬁli“!ﬁ"tﬁe answer box to complete your choice.

A. The domain is {x] 3 (”f )()(/ = WA(.'/# G/( Z..' o

(Use integers or fractions for any numbers in the & ressmn Use a comma to separate

2 -l )
answers as needed.) o G ¢
s . Fe4) i #.i( - &
- The domain is {x| X is any real number}. & = e,
f h j (}() ' .- ,l,-_- O
(d) Find H ). e d

(Simplify your nswer) 6)(

v . —— ( C{C)/"' a1 TU
What is the domain of —? Select the correct choicg below and, if necessary, ﬁlI in the answer box to complete your choice.
) /. ~ L
( FY] 26X + K~ 3
mb rsin the e ress:on Use a comma to separate
% 7 5 3/7;7%33/ ) : s
er} . - (; 5 / s
: 2
e (/ @(W*f

B X ES N
W - L/L’/ 1/9/2020, 11:08 AM

o T e

A. The domain is {x|
(Use integers or fractions for any nu
answers as needed.)

B. The domain is {x| x is any real n

(e) Find (f+ g)(3).

50f33
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S - Z
(f+@)(3)= (Type an integer or a simplified fraction.) / / /5(/ b (o { 7‘ N3

(f) Find (f- g)(2). /(7‘) 276 (_3)2 2/~ é
f-9)(2)= (Type an integer or a simplified fractl( " y( () = G(Z//Z/ Ffﬁ/ ~ 3

(@) Find (f+ g)). / //(() =G (?/ 7/?) -3
(f-@)4=___  (Typeaninteger or a simplified fraction. / )( (7 - Z ¥ 'fd (, -5

(h) Find[ J(4) ( j/(&) ,-'25 Y
[ }(4) ____ (Typeaninteger or a simplified &acﬂon)(f‘///}{(/ é}(" e /f)(

Answers 6x +x - 3 <)[ )/(«y) C/‘? /37(9)
Fe9) (4) (/4//9/%/ — (7% )(%)
lo)(3)= 277
Fgl(v)c 26

B. The domain is {x| X is any real number}.

-6x2+x—3

B. The domain is {x| x is any real nu

6x 18x K

B. The domain is {x| x is any real number}. _,,_: )( ‘ 5
s ZX) < -
6x2 ( /é)(

- /9// 5

A. The domain is {x| x#0 . ) / < ?(

(Use integers or fractions for any numbefs e expression. Use a ¢o n'?:'{o separate answers as needed.)
54 ('(/ 3

* fff 1 s
1 / - - ) b
ID: 1.1.69
N — — = =
: f(x +h) f(X)
Find the difference quotient of f; that is, find ————— h#0, for the followlng function. Be sure to simplify.

i A’fi ——1
woort-ores ((FH) Uliﬁlj_‘-/ (- 9xey) —
f(x+h) f(x) : 5, 4) . d’)( 44 47-’1"7'7/\/-»'}/ .

Answer: 2x+h-9 (‘f’l)lly"f’ [3(1’\"(’/\ “q/r—‘ih -Py X 7"‘;/7 -

ID: 1.1.83 /IZXL"‘[? /"4%//‘7,

bt ht =94 ,%52+A Z;ﬁ% q
6 of 33 /1 4 1/9/2020, 11: B-J‘FM/
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9.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

— -
ci'r/ Yes —
No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your choi% {/,/( e )4 £ ) . =
% o = o ( (
| J’j ) <l /LU#) y 70/ )

A. T?‘{d;ma]p i{ —po ) f/ . The @LS i Mf“‘ ?</7

(Type-your answers in interval notation:)

B. The graph is not a function.

e o
What are fhe intercepts? SeEct th}q}correct choicfe‘ below and fill in any answer boxes within your choice.
f o '

o i’,—wl i )(r—.' 1 . § v/ == ..-ﬂé-' = }} /
A (=%, o) [f/ O, (ij ¥
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.
C. The graph is not a function.

Determine if the graph is symmetrical.

A. I_t is symmetrical with respect to the origin.

\& It is symmetrical with respect to the ;l-axis.

C. _I_t is_symmetrical with respect to the x-axis.
D. The graph is not symmetrical.

E. The graph is not a function.

Answers Yes

A. The domainis| (=o0,00) . Therangeis (= 00,8} .(Type your answers in interval notation.)

A. (8,0),(- 8,0),(0,8) (Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21

7 of 33 1/9/2020, 11:08 AM
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8 of 33

10. Using the given graph of the function f, find the following. s

(a) the intercepts, if any

(b) its domain and range L) _
(c) the intervals on which it is increasing, decreasing, or constant S ‘/07 / i
(d) whether it is even, odd, or neither

V\L" 44 794' [{-,--.-*—-/’/_/'

Xr ‘7 — [
(2) What are ntercepls‘?

g ) O ( / / ()) ( / { /q @
(Simplify your anéwer Type an ordered pair. Use a comma to separate answers as needed.)

(b) Tic;omam is f.__ 3 3 é/-‘%;/ //) /%j
(Type your-answer in Thterval notatiori.) I N
Thfnge |s L @) ( 5 %un—\ 2 7(?/ ( 1(_ A
(Type-yoUr answer in intérval notat:on) wj,\ui i

’ Al
(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answ boxeéwh\ﬁ% ;our

choice. - k\)‘t,[{
A. The Qraph@ncre_a;mg\bn L ‘//(ﬂ C// 33 },7“_‘_;;\/ |

(Type your answer in interval notation. Use a comma to separate answers as needed.) b L le 7 U 4

B. The graph is not increasing on any interval.
9e Std imne

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. Thegrapm@*‘on Z_" . _Z C ()) [ j

Tl
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes

A. The graph is constant on

/ (Type your answer in interval notation. Use a comma to separate answers as needed.)

The graph is not constant on any interval. v =7

iy v

(d) The function is (1)

(1) odd.
neither odd nor even.

pr——— —
C’a.z'even. e

— - 1/9/2020, 11:08 AM
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Answers (- 1,0),(1,0),(0,1)
[-3,3]
[0,2]

A. The graph is increasingon | [~1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,1] -
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25

90f33 1/9/2020, 11:08 AM
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11. The function f is defined as follows.

-3x+4 ifx<1
f(x) =
4x-3 ifx21

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The@“_r_l;aiﬁ' of the function f is ( - 5 7 .('2(") C___'"‘ (/:/4/ f/,74 />

(Type your answer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

-_"‘_'_ﬁ-.-‘\. 2
A The@ept{s)'isiare [r (@ ) 9 .)
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

(c) Choose the correct graph below.

- ™\ g
(d) T@.g\e/ofthe function fis [_ { | QO
(Typeryouranswer in interval notation.)
Answers (- c0,00)

A. The intercept(s) is/are (0,4) :

ID: 1.4.33

?wpf”“*‘ — (1os ¢ "

- i a ()(> 1) Cu ,,,4(
arr I

10 0f33 ' ) - | . 17973020, TT08" ANI-
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12. The function f is defined as follows.

3+x ifx<0
f(x) =
XX ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.
-—,\\

(c) Graph the function. _ -

(d) Based on the graph, find the range. i \
(@) Th@f the function fiscﬁ ()2 (o ) //4’/‘/‘ ) 45 4/-/ )

(Type your answer in interval notation.) '

(b) Locate any intercepts. Select the correrl chai_ge below and, if necessary, fill in,the answer box to complete your choice.

-l st ¥ o, JL
_ . ; SREENRVAT N o ~ Wl
A T@lerce/p;{ ) is/are ‘"}/L“) .(0/ c.J) 4~ alecczr
(Type-an ordered pair. Us& a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

) B.

(d) ’E(a'r:;e}fthe function f is E'a a9 = /
(Ty. ranswer in interval notatlon.)

Answers (- c0,00)

™,
< \
N
s
-~
/

A. The intercept(s) isfare = (-3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

sy O | e

/7<- i T “"/Z___

S

. K- = /L Ii\x\ﬂa e
(- 00,00) 7 — ) e T T2 ;‘: .'I‘
/ ; L
ID: 1.4.37 L/F ax = /Y /S F D & e
. Y 27 X o ()(<d) Cirebe
g =g (xze YR
0 o == — e
_ ) = )/ ¥ e _
11 0£33 _ — m—— = 179/2020, 11:08 AM
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13. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F(x) =f(x) +4 (b) G(x) =f(x + 3) (©) P(x) = - f(x)
1 i

(& [ =16s+2)=3 (&) Q6 = 50 (0 90 =K(-%) ’

(9) () =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 4 below.

(c) Choose the correct graph of P(x) = — f(x) below. \\_J___/

.

o

- ) Nes i e /3
(d) Choose the corract-graph ofii(x) =f(x+2)-3 below. | g// J - ;

Chle [~ / f—

A. Oaﬂue

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

12 of 33 1/9/2020, 11:08 AM



(f) Choose the correct graph of g(x) =f( — x) below.

/"';;}T\

G

O B. Oc. OD.

(g) Choose the correct graph of h(x) = f(2x) below.

O A O B. O cC.

13 0f 33 1/9/2020, 11:08 AM
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Answers

ID: 1.5.63

14 of 33 1/9/2020, 11:08 AM
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14.

(a) Graph f(x) = |x + 2| - 4 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
| square units.

lies below the x-axis is
(Simplify your answer.)

Answers

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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15. Find uéos if any, of Equadratt mnmm@ What are the x- mtercepts if any, of the graph
of the - Z ( — <
A =X =3 \,\/"_(U*(//Jz y(é(,j 2+ %+ 2y
as 2 bey ol o 1
o - LT3
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. s T
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) 2T C/ L/ & 7

f(x) = 2x% — 3 + 2x

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

DA o _ _ M
") B. The zeros and the x-intercepts are the same. They are : '7,

"y ©. There is no real zero solution and no x-intercept. N Z' l v 7

‘7,-:

¥ ya . -
4T —1-yT = 2 IVT)
Answer: B. The zeros and the x-intercepts are the same. Th 2 3 2 . L8 )

- . ‘/" o = ';“"-f\w._ g - _.—/ Z—“/‘;/_
ID: 2.3.47 )( 11v7 Y<. [=V7 N (V7

s T —

i e— = == —— o
—_————n
16. Find th@ﬁ?ﬂnﬁéﬁc){W?at are the x-intercepts of the graph of the function? Bl
/

g(x)=x—44/x =32 /4&)/- X*‘ 6‘ Sé — ==

Select the correct choice below and fill in the answer box to cornp!eie your choice. //‘( sy 4

) A. The zeros and the x-intercepts are the same. They are /( } Z (/}( =es __/
The zeros and the x-intercepts are different. The zeros are , the x-intercepts

' B.

are

(Simplify your answer, including any radicals. Use integers or fractlons for any numbers in the expressmn Use a comma to

separate answers as needed.) (/-—- } (/ ( / ) S(\)bt coA

Answer: A. The zeros and the x-intercepts are the same. They are ﬁJ--Z_ 4
K—=32) (K-32)= %] Tt Side
— ;(’d St — 5t —f SOt =(9)/ V)
Xt—\ Gy V7 oly = /6 (X)
,_GY)(_?,/uéy 7/63( /(h///l’
LU — X =
,( 6 7y

C—dox ot =

LGy FEF T 6F FEY
o A6 116 = OT/E O XTET

. 1/9/2020, 11:08 AM
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/For the quadratic function f(x) = - X2 + 6x, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Ay

.

() down
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?
The axis of symmetry is

(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O B. There are no x- intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A. The y-intercept is
(Type an integer or a decimal.)

() B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type vour answer in interval notation.)

18 of 33

() up 20 -16

=16

-20]

—
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T

20
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Answers down - _’f—ﬁ\

(39 i
x=3 /f’)( 17['67(//

A. The x-intercept(s) is/are 0,6
(Type an integer or a decimal. Use a comma to separate answers as needgd.)

A. The y-intercept is 0 .(Type an integer or a decimal.)

20]

\},fm'?"'
/J \(/,':\
(j\f! o ( O/O)

20 46 =12 8 4
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/ For the quadratic function f(x) = X2 - 6x -7, answer parts (a)
“ through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any. 8

Does the graph of f open up or down? 4

up 20 16 42 8 4 1 4 8 12 16 20

down
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any 16
numbers in the expression.)

20
What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

210f33 1/9/2020, 11:08 AM
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Answers up
(3,-16)
x=3

A. The x-intercept(s) is/are 7,-1 .

(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is -7 "(Type an integer or a decimal.)

(= 00,00)
[~ 16,00)
[3,00)

(- 00,3

ID: 2.4.37
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ithout gra Dinﬁ whether the given quadratic function as a maximum value or a minimum value and then fi
v, Stya |s P05k o OP A 1 Sz A

% L ks / ) § T
f(x)= -—2x +8x—-6 : —,———
(x) ?/x émé —_— l/(/ e {Mﬁx - (,‘\ )

Does the quédra I) funktién f have a minimum value or a maxamu lue? ( i__ 6’/
)
_ fﬂ(? i
() The function f has a minimum value. ( 2 z) j
What is this minimum or maximum value? - ( - //( _[ ) )
(Simplify your answer.) ( 2 / (2)) /7 4
(l y
g X

Answers The function f has a maximum value. , & ;
=2 () *--F Y

2 *-:(Z

=(¢, ~()(2) ~+ (\-¢)
ID: 2.4.59 «(Z, "5"'(' /6 _6)

y— e - - _ )
e = e
20. Find tP@mml honzontal and o Ilque asym;y&tes if any, for the following rational function. M c Z 5 —w =

G X _ |
(;( S e M X’_fz/d . - C_) L O
(L .
Select the correct choice below and fill in any answer- boiesw yourchaolt A)[e _,//

e ( & é .

) A. The vertical asymptote(s) is/are x=@/ ”/7 4/ }
(Use a comma to separate answers as needed.) C 4 j( A P {osd-frir

() B. There is no vertical asymptote. Al  s—— > R v #

/&) N0 [ % s

6

19. Determine,
the value.

() The function f has a maximum value. '—(
Z(~ 2 )

X
R =1+20

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/fare y =
(Use a comma to separate answers as needed.)

(R

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice. 6 ~

.3
four che A
' A. The oblique asymptote(s) is/are @é"( a >] ”//J /‘ﬂ 7 = - \%

(Use a comma to separate answers as negded:)

() B. There is no oblique asymptote,

Answers A. The vertical asymptote(s) is/are x = -20 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) islarey= 6 . (Usea comma to separate answers as needed.) L.:/':;
—— T e — /
B,;[h&FE‘IS no oblique asymptote. . e T e
J vg [ Samy a5 ™
St Aighest JRhres 00

ID: 3.4 45 h()l(j,é /&’ch, ) -//d/’h -)ﬂ/;(., 714/, /S Ao

Ll 43777 4l
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21.

24 of 33

For f(x) = 5x + 4 and g(x) = 3x, find the following composite functions and state the domain of each.
(a) fog (b) gof (c) fof (d) gog

(@) (fog)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of fo g is .
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{0 B. The domain of f o g is all real numbers.
(b) (goH(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainofgofis & }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o f is all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

7y B. The domain of f o fis all real numbers.
(d) (@og)(x)= (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. Thedomainofgegis{x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

Answers 15x + 4
B. The domain of f o g is all real numbers.
15x+12
B. The domain of g o f is all real numbers.
25x+24
B. The domain of f o f is all real numbers.
9x

B. The domain of g o g is all real numbers.

1/9/2020, 11:08 AM ~
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W

'he function f(x) = 6x + 2 is one-to-one. A
(a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f~ '. i6
(c) Graph f, f~ 1, and y = x on the same coordinate axes. 12'_
- 8]
@t "= j
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] x
0N -6 42 8 4 TR
(b) Find the domain of f. Select the correct choice below and, if ' ‘ S '
necessary, fill in the answer box to complete your choice. i
.3_'
A. The domain is {x|x # }- 42
B. The domain is {x|xz b A6
C. The domain is {x|x= }. 50]
D. The domain is the set of all real

numbers.

Find the range of f. Select the correct choice below and, if .~ e
necessary, fill in the answer box to complete your choice. /

/ ,;/;L g R
A. Therangeis {yly= 3 . (X L Q i =
B. The range is {ylyS } / /QL," 3 & 6/( J_ /‘k'--"-"v’""- A/ | 7
C. Therangeis {yly;»e } 9 sl F
D | : 67 ) ¢ & _;J

. The range is the set of all real numbers. X =

Find the domain of f~ 1 Select the correct choice bglow and, if . o —
necessary, fill in the answer box to complete your choice. — 6 (7 *1{/ ! P4

’.’L —
- (

A. The domain is {x|x2 / 6

B. Thedomainis {x[xs ~}. )( P Z_ - 7

C. The domain is {x|x# }. \

D. The domain is the set of all real % o /L Y u}
numbers. S— T =

Find the range of f 1 . Select the correct choice below and, if é
necessary, fill in the answer box to complete your choice.

/ L - L"j i /
A. Therangeis {ylys ) — ey / /
B. Therangeis {yly2 ~ }. / N K a ln i / L/ |
c " ' W/

&)
- The range is {y]y;a'E } / w -~ - . / |
of skl rum ] 7 TG s A7

D. The range is the set of all real numbers. /

-
f /.,-/ <
(c) Graph f, ', and y = x on the same coordinate axes. Use o ! Z
the graphing tool to graph the functions. —— T
Za7” © -~ o,

\_  CF K™ -
27 of 33 g . e 1/9/2020, 11:08 AM



e
x-2 - =,

6

finalm1314COC034sulllljjRZZ34Z-Alfredo Alvarez https://xl itemw‘mmf api/v1/print/math

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers. / y!

D. The domain is the set of all real numbers.~ ‘L Y
b
L\

20 16 -

ID: 4.2.53 v’ — e X - /{_{_

__,4_/__ ___. ————

23. Solve the equation.
64 X +52 2 408X .»-"’)7 2

The solution set i |s =
(Type an integer or a sumpl;ﬁed fract]on Use a comma to separate answers as needed.) / i 6 c/- 1 C / 2 17

—bx 37 P 4 !
nswer: 24 = 5 .
’ Q ﬂz L /'G'L ?LG;V
ID: 4.3.73 —6 X~ -77{ L = Fa X 3, -
XIS P—3r— L

e L (6

~6 X T /x —3tC IQ Léf

~6X=T7x T 7x—=3(0 ~7X Lt
~ (5 r~3/Z /

—
—~( 73 L//
X’ == 251 ~
280f33 - ;/_ ——— 1/9/2020, 11:08 AM .
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24. The percentage of patrents P who have survived t years after initial diagnosis of a certain dlsease is modeled by the

function P(t) = 100(0.8)". K j/ /00 / 0 27

(a) According to the model, what percent of patients survive 1 year after initial diagnosis? 3 /l :
(b) What percent of patients survive 3 years after initial diagnosis? ”f// - /U N /( J) / l /
(c) Explain the meaning of the base 0.8 in the context of this problem, . v

(a) According to the model, % of patients survive 1 yea initial ¢ dfagnoms

(Type an integer or a decjfmal.) /(/ ‘fa N 5-(“’/

(b) According to the model, % of patients survive 3 yea erinitial-diagnosis.
(Type an integer or a decimal.)

(c) Explain the meaning of the base 0.8 in the context of this problem. Select the correct choice below and fill in the answer

box to complete your choice. / (3 ) /O 3
0(0.F)
A. As each year passes, % of the previous survivors take the dlaiysm Z/(J 0 /0 27) 4’7/

() B. Aseach year passes, % of the previous year's survivors have survwe

C. Aseachyearpasses, Yo-of the: totaLQgtlents have survived 3 5' / Z W,
Gse gvevhe) //)

*\‘
Answers 80 ( ( !/u 2
. — — all
51.2 Cc —
B. As each year passes, | 80 % of the previous year's survivors have survived.
ID: 4.3.109
B — = — Ry éc\ ——

25. Solve the equation. Z& "' };?:.(( Z ( Z 3
O (%) =
log,(2x+3)=3 [/Ué»)( C)r) 7
o ( 2 ' J

Change the given logarithmic equation to exponentlal form. 3
= X7

(Type an equation. Do not simplify.)
Th lut t - Z/ X Z Z /\/7‘7&%
e solution set is { b iz Z)(-{ B

(Simplify your answer. Use a comma to separate answers as needed.)
CxX % 3

Answers oy 4 3 = 23 Z — Z
5 = ( <
2

ID: 4.4.91-Setup & Solve /":'Z

(RN = o e :
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26. The formula ’ '
-0.9h Mﬁ-—-—‘/’ = ¢y Cj

https://xlit'é‘r'ﬁii‘r'o'd;pearsoncm,&com/api/vI!prinu'mat

DA/ p) 094

D=25e¢ ' Z,_(' Z <«
can be used to find the number of milligrams D of a certain drug that is in(a patient's bloodstream h hours after the drug
was administered. When the number of milligrams reac e drug is to be administered again. What is the time
between injections? . 3 —0.9 ’
injecti ‘/. g = 7S 6 ( » / () Q-
The time between injections is | hour(s). & é/ - } —’0 » ‘?

(Type an integer or a decimal rounded to two decimal places as neede
/K/’ - ~0.74
Aa(of6) = _h(c

AnBWBI" 2 04 - 2 = @’E

Moo/ )T ~ 0T s OF
 ID:44125 f.,,l ( /é) -—0.94 [// _2 P 0‘f,_,‘: /’f"‘ oA

,.-—-"'l—\_z_,\

D e -
~ 27. Write the expression as a sum and/or dlfference of | Ioganthms Express powers as factol ? =

| x(x + 6) >0/7 ZQ‘ ()( (Y’f’é)} Z’O) (X"‘f 3)
°9[ } )/K/'/'(cj (tre) —Coy(Ka) ==

P 0%@;6& = Ly

(x+3)’

e WO P

Answer: Iog X+ Iog (x+8)=T7log(x+3)

Comlec: Lo (o) los A= /7 Q@l@ o loshl e (2

ID 4551 _ =
L, e = . A == — (l fi,) ~ :
; e ——— "
28. “Solve the logarithmic equaﬂtﬁ’;g Z L“ ﬂ() A/ p /r_) Z. C C/ =
log x+ log (x+15)=2 . - :
e (U)( éd)’f(cz)(—icw‘/s'):¢
Determine the equation to be solved after ramowng the logarithm.

/0 = x’(x/r/s) (0 (—2v) +los(-5) =|2
(Type an equation. Do not simplify.) JUd < X 7 (K /?/44) 540) jl

Select the correct choice below and, if necessary fill in the answer box to ¢pmplete your choice.

QX 7/ls 727

"V A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a corﬂrna parate answers as

needed.) 0 C )< o / G<

i1 B. There is no solution

: - oy
—s =0 ot X¥Z°-
Answers x(x+15)=102 ,(.'/y“—f(’” ~0—7’(“ ’(ﬁfr(d‘-—é u_,u ¢

fu)/s)#cm (j’*r/r)g 7
ID: 4.6.17-Setup & Solve 2
/(_.; Ff)i‘-f‘(‘{'* (Z ) —_—

e 17972020, 11:08 AM
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// 29. Find the amount that results from the glven Investm t A/
—ﬁ .
Q—'$200 1nvea{ad (_% opmpounded quarterly {:;erio f4 years /
After 4 years, the investment results in $ ' Z o0 (/.71—

(Round to the nearest cent as needed.)
Answer: 308.70 /; é(‘)‘) [ / 7 /-{)

s i
i 507, 7017771 |
ID: 477 4 e (I%J)?(/C) /C#;OZ 70 \)ﬁu».,.(

ﬁr ==
: 5 ‘+ 30. How Iong"does it t;f for a?lnvestment double m,\talua if it is investedat 10% oompug
\ =

@tmuuga!y? ) ? 77775
\

At 10% compounded quarterly, the investment doubles in a{;h?t ars )
(Round to two decimal places as needed /e CL - é.. A
} 200 = //7‘ — )
Ias in aho =

At 10% compounded contlnuously the investment dou

(Round to two decimal places as needed ) Y | -
UU
Answers 7.02 (—-f e “l _ r Jvar( d/ /Z\
“‘%(z) L) MO 7 1
4’(&/} / w(é,):»/uﬁ
ID: 4.7.35 ,,&,({) = 9,(, /'r“z: ﬁf}? :f_//—‘
= . - _\_1 aiinl
. How many years wlll"rttakeTrﬂ |' Al uum_, £$20:000" :

(e;mp’o‘ﬁﬁaéd continuously. ﬁ' /
(.-

It will take about years for the investment to grow to $50,000.
(Round to two decimal places as needed. w’ of /_,é *1>

V.
SUpoo © €0000C
_TUUJ/ ‘

Answer: 8.33

— L
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7/“(-/ = Yy =y

32. Solve the system of equa ons If the system has no solution, say that it is in /nalsfent

(7/1/“2“' <7 ﬁ_'( A
{/“X '2V=;)/ TV S o sz . / Ty Y

5x +y =

/9i—0= /7 cg\,K_/"\ o

(Select the correct choice below and, |f necessary, fill in any answer boxes within your choi
S‘v’k L S, J/

() A. The solution of the system is x = andy= S —
(Type an integers or simplified fractions.) k/)(’E’ Z \/ -
() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as V

{(x y)|x= .y any real number} ‘7‘({) — 2 7

(Simplify your answer. Type an expression using y as the variable as needed,) (/ o
(1 €. The system is inconsistent. /

Answer: A. The solution of the system is x = 1 andy=
(Type an mtegers or simplified.fractions.)

# d =
4 1) =(4, %)~ // + S
| il

33. Solve the given system of equations. If th systern has no solution, say that it is mt:?mstent

/"1’ Fhed rty ch( ?)/L'/

x=-2y+3z= ) U7

2x+ y+ z=-1 3 7
-3x+2y-2z= -3 ﬂ/z / / “'/
—L

e Select the correct choice bélow and’ ﬂl] in-any-answer boxes*_ﬂﬁﬂwuur”chmce’—‘

iD: 6.1.33

! A. The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)

i 7 B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= e , z any real number}.
(Simplify your answers. Type expressmns usmg z as the variable as needed.)

1 €. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{xy.2) | x= ~,y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

2 D. The system is inconsistent.
— ~ - — } _// / } l [

Answer: A.
The solution is x = =1 E -1 ,andz= 2 . (Type integers or simplified
fractions.) }w)) V! <-//1 X

ID: 6.1.45 V\l/ 9 7[/ . _ e __‘_‘_(ﬁz’/‘/

OO
o /@
o 0 &

~320f33 . 1/9/2020, 11:08 AM
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34. Find the real solutions ofth;quau -
4+ 4f2x-5 =x

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

) A. The solution set is { _ }
(Simplify your answer. Use a comma to separate fanswers as needed.)
() B. The solution is the empty set.

Answer: A. The solution set is {]' 7 _-'}.

___(Simplify your answer. Use a comma to se
- i T,

Py —s ~ X'=8xr/6
(b: {t——é)(,f/(,ﬂ—zﬁ(—fs/
d)ﬂ: )(l —J X Q‘/

7)) |

)

=
—

(2
Ay -5 = / /
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